


In a triangle ABC, angle B = 90° and p
is the length of the perpendicular

from B to AC. If BC = 10 cm and AC
=12 cm, what is the value of p?

ST ABC #, @177 B = 90° ® 3R p, B
¥ AC W ST Y &d & o9z & I
BC = 10 99l 3R AC =12 ¥4 8, ol p

T A9 97 87 EC DS‘QOT{]
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d) ==
d) 3¢




e o
The mean of pfq, r, s and t is 280. If
the mean of p, r and t is 240, what is

the mean ofq ands ?
p,q,r,saﬂ?tﬂwmﬁglﬁﬁp,r

3R t BT 71T 240 8, A q R s & 9

87 -
QSOHj&g T:;TMOECDS 023]
= (b)320
< (¢330

@ U] 340



Which of the following is/are
identity/identities?

frefeifRee & & @9 4 ggem= /uge
@M/ﬁ?
n A 01008 0 cinb.cost=1,
@ '—Ez’ Al_st) Q"'f{"' S?') 0<9 -ctg

(l"GL / ‘,2{—- Einﬁﬂ=cﬂ529(t!ﬂ549+35in2 9)
Select the correct answer using the

— 6(2.‘. (\L‘QL‘L“'&) :;;e él:en b&ltllw: NN
— Q_ccl‘ .‘_3$-3_) T Pls I

(a) 1 nnly ECDS-QOQBj

(b) 2 only
c) Both 1 and 2

(d) Neither 1 nor 2




If 7sin*0+9cos*0+42sin’0=16

0{9{%, then what is tan0 equal

to?
gfe 7sin*0+9cos*0+42sin%0 =16

0<0<” 2 @ tano fHrud &R BN




An isosceles triangle has its base
length 2a and its height is h. On each
side of the triangle a square is drawn
external to the triangle. What is the
area of the figure thus formed?

TP WAgag S @ MR &9 2a @
IR 3 HuE h 2| Be B e
Yoll R s & 9% (& o Ghar T
2| 39 UBR 1 AP BT B T 87

_W#1'6a2+2h2+ah ECDS_QOQ‘S_—'

2 (c) 4a2+2h2+ah
éQLRIfI'Q'& (d) 6a2+h2+ah &

N3




a’ b?

® Q) “P=b-a)c-a)’ 17 (c-B)(a-b)’

2 o
YM M 'az(b'c) -L (C‘Q.) -@{9?)(3 7 — , then what is

0= 2) b‘:-l’ C=0 @“b)(é-()(c-ﬁ) (p+q+r)? Eil:fll to?
) ?-.:'_L "(M@b'a)(“'a)’
- g (a"b -()(C'®= b2 ) o2

e (c-b)(a-b)’ " (a-c)(b-c)’
=0 |7__:_‘ l ﬂ'l ! ar (p+q+r)? frae s_TeR 87

Ang s [CD$-Q023]




Which one of the following is a factor
of a’-p?-c?+2bc+a+b -c?

9
o - (b-¢) +ath-C o
(a n"'d) (Q'b-m + I) a2-b2c2+2bc+a+h —c B HRD 87

(a) a+b+c+1
(b) a-b—c+1

‘C) atb+c-1
@ Adlra-b+c+1

[cD$-20237]
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Then what is the value of x? - 3x + 2
equal to?

M x2 - 3x + 2 B I 59D TR 87
(a) O
(b) 1
(c) 18
(d) 20

[CDS-20237]



If 2s =a + b + c, then what is s? + (-]
VM (ué' (s—b)+(s/—br(s-c) + (s—cy;,ﬂ equal to?
G2 b=| €=] 3T 2s=a+b+c T s+ (sa) (s

b)+(s-b) (s-¢) + (s-¢c) (s-a) fFED TR

C=0 %?
(8) (a+bre) _y Y

AP abtbctca — |

(c) 2 (ab+becteca) 5 o
(d) 3 (abtbctca) = x

’ [CDS-2023]



A pendulum swings through an angle
of 9° and its end describes an arc of

length 14.3 cm. what is the length of
‘ the pendulum ?

[Take R = 2—2-)
7

Q Uh UgeM 9° & PV W YHAT B 3R
9P RIRT 14.3 9 &9 & TS 919 &I
quiF HaT 8 | Uge P widTg 991 87

[Taken-—— CDS—Q()QB_J

. () 88 cm X
A f?; 91 cm @
< (c) 95 ch

(d) 98 cm




The arch of a bridge is in the form of
an arc of a circle. If the span of the
bridge is 40 m and height in the
middle is 8 m, then what is the
radius of curvature of the bridge?

Jdl &I HEXd UH 9 @ 919 & ©Y A &l
g I g1 o oI 40 HWiex § 3R o«
§ FHag 8 HieY B, eﬁgaﬂmﬁvm
T 87?

(a) 25 m
(b) 27 m
(c)ZQ\/

d) 31 m

[CcDS-20237]




If a, b and ¢ are the side of a right
angled triangle, where a > b > ¢, then

) what is the value of the expression
QA (at+b+c) (a+b-c) (a-b+c) (a-b—c) ?

Ilﬁa,b IR ¢ Wﬂ'ﬂﬂﬁﬂﬁ'ﬂﬁﬂﬁ
e &, &l a>b > c B, O faRs @

A T 8
(at+b+c) (a+b-c) (a-b+c) (a-b-c) ?

‘3' ihZcZ
Jtﬂ ~4b2c2 @

(c) -2a2b? _

(d) -4a2b2

[CDS-20237]
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The cube raotﬂua_m@s
y = 3. at 1s the value of x when
y=337?

x B G, y ® A & JSHATIU
‘_E?I?IT%,\_IIEH=BE§I?1T%5?=3GW
y=ﬂ§ﬁsfx$['ﬂﬁwgﬂ1ﬂ'?

(a) 18

o (O

(d) 27

[CDS-2023]



\\

Three solid lead spheres of diameters
6 cm, 8 cm and 10 cm are melted
together and recast as a solid sphere.

hat is the percentage diminution of
he surface area as compared to the
sum of the surface areas of the three
spheres?

6 WHI, 8 |HI 3R 10 I I 911 A
3N U @& T B UH Ary fUEdmn
ST 8 3R 39 Ml & ®Y ¥ oI fear
ST 1 AN Ml B JO SA%dl ®
AT B g H USH gF%d H fhd
sfver & B g %?ECDS"QOQB_J
(3'25“/{:

(b) 26%

(c) 27%

) 28%



Three glasses P, Q and R have

. . capacities in the ratio 1 : 2 : 3., All

): 2 :% -
S ) these glasses are completely filled
th mixtures of milk and water. The
60 IQD go ratio of milk to waterin Pis 1 : 2, in

Qitis2:3andin Ritis 3 : 1. If the

content of all three glasses are put
m @# into a bigger container, what will be
il Gothe ratio of anilk to water ig_the

- container? E&DS" iloqa

a9 T P,Q 3R R & &5l 1:™2: 3

® U # 2l A W froma g avg 9

aﬂ?qﬁ$ﬁw@rﬂ%§qé‘lpﬁ

: Y 3R 9 BT U 1:2 8, Q H I8

2RD (@) 203: 117 . 5 s gk R H 7w 3: 1 2| AR A

Q‘sﬁmﬂ‘fﬁﬂmﬁaﬁwa@aﬁ?\fﬁm

. ‘Il R e, @ gy @ emuM @@ @R
%3 (d) 165: 88 HeR ¥ UM SeH B forg?




What is the LCM of
H4+KZY2+Y4, 3+y3,xa_ya?

& LCM &7 &
G g 4 2 & 4,33+y3,33_y3?
%\-j (a) (x2-y?) (x¥+x2y2+y?)2
3,3 ) (b) (x2-y?) (x4+2x2y2+yY
() =) otyy Xy lpty ‘.
IRy e

[CDS-20237]



——— What}ﬁ_\ /"\
x? —y —z —2yz +£:_z —z - 2yz

X4y - 42xy X -V 4% -2=xx

D ol ® it

(YD) (g ynary) =07 e
fee aRTeR 87 ECDS‘QOQ3-]

m,x+y—z
/f)m_. M @amh

2x
(d) 2y + 2z

X+y-2




If tan A + cotA =2, where0 < A <90°,

then what is the value of
tanA+tanA+tan*A+...+tan"A?

'Jﬁ'( tanA+cotA=2,\_rT€'f 0<A<90°
fﬁ tan“A+tan®A+tan*A+...+tan™ A
DT 99 |7 BITT?

(a) 1
(b) n - 2

+4efn -1

(d) n

[CDS-023]



avee P2

3MMcuboid with edges 8 cm, 12 cm and

What is the radius of the sphere
passing through the corners of the

24 cm?

8 A, 12 9H R 24 I fHIRI ard
AN P DI | TR dral Tt 1 B

T 87
k/i;)/m.s cm J__ W

SPhere




A lamp shade is in the shape of a part
of a cone and its top and bottom
ends are circles whose

circumferences are respectively 30
cm 40 cm. The perpendicular
distance between the ends is 6 cm. If
the cone were to be completed then
how far would its vertex be from the

top end? EC DS- Q 013-]

UH oY IS b O & TP HIT D AR
T & 3R 39 FI AR Fge RR 39
Rt aRfer e 30 T 40 I B | RRI
$ 419 di9qd QI 6 WAl B AR | G
gl 9 o 99 9 RN 9 fea @ ®
gRT?



ABC is a triangle with sides AB = 41
cm, BC = 28 cm and CA = 15¢cm. If D,
ﬂ E and F are the mid-points of AB, BC
and CA respectively, then what is the
u‘ F I g area of the triangle DEF?

p ABC T e & foraa! g AB = 41
94, BC = 28 9 3R CcA = 15 ¥ &)
A 2 gf¢ D, E3IR F %A AB, BC3R CA S
weg—fdg € @ PYS DEF &1 &3%d 941
23 C  #[cbs-2023]
(a) 63 square cm
J— ._i b) 45 square cm
(1 X (‘i& \K\:l*lq- \_‘:.9-:4 f.sqsquare cm @

(d) 22.5 square cm



A triangle has sides 13 cm, 14 cm
and 15 cm long. What is the length of
the smallest altitude of the triangle?

|< U B & qomd 13 9, 14 9 @R
|2 15 ¥ ol #| P A W B T

@l iaTg T 87

GEIE) \3 \{
(a) 11 cm
\AT11.2 cm
(c) 12 cm
(d) 12.2 cm ﬁ

Y [CDS-2023] 1
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The hypotenuse AC of a right-angled

ABC is 3./5 cm. If AB is doubled and
BC is tripled such that ABC remains a
right—angled triangle, the
hypotenuse becomes 15 cm. What is
AB + BC equal to?

HHDIUT ABC $T B AC 3594 8| afe
AB &I TAT 3R BC @ 39 USR oM
3 T R far Y f& ABC TS |HGBIT
C e @, @ Bof 15 ¥ & o 21 AB
ls +BCW$W%?ECD3.QOQ3‘J

(a) 10 cm

\M cm
Q (c) 2J§ cm

(] (d) 8 cm




What is the area of the region
between two concentric circles if the
chord of the outer circle of length 14
cm is a tangent of the inner circle ?

22
Taken = —
( - )

gfd 14 QA o913 el Y g B ST
FARd qd B WINGT 8 A A Hafad
T P S D 8 BT AABA 7T 87

(a) 125 square cm
(b) 132 square cm
(c) 144 square cm

\_{#H"154 square cm
[CDS-20237]



Weekly
wages

Number

of

in worke
Rupe:s(cﬂak ?

2050-25502%9 5

2550-3050 K<

3550-4050 Q§

4050-4550 Y Bep 2

4550-5050 \|3ag 10

Consider the following for the next
two (02) items that follow:

A grouped frequency distribution is
given below:

3Tl &Y (02) seHl @ forw fAm=forRaa wR
faar &%

TP WRIpa IR faaRer Are fear
&

If average weekly wages earned by a
worker is Rs 3520, then what is the

value of k? EC DS"Q 2 l‘m

uﬁ%\ﬁaﬁamaﬁﬂ
153520 ¥UY B, d k BT °19 T 87




What is the median (approximate
value ) of the distribution?

%ﬁﬂlﬁm&ﬂ (Brfaa ) @ 8?
. - (c) Rs 3413
(d) Rs 3483
Ecos- 023 0

30501 '33:. Wy



Consider the following for the next
two (02) items that follow:

Two parallel chords AB and CD of a
circle are of lengths 60 cm and 80 cm
respectively. They are on the same

side of the centre O and 10 cm apart.
h* hat is the diameter of the circle ?
am?r 3l (02) ImgeHdl & fou f=falRaa

%Wwﬁ [CDS-2023]

g DI I AR ST AB 3R CD &
HHI: 60 T AR 80 AW | SP

HE OD TP B NP & 3R 10 9 3t

(4100 cm N R EI

(a) 120 cm



If the chord AB subtends an angle «

and chord CD subtends an angle  at
the centre O, then what is the value

of tan(%)—tan(g)?
gfg SfflaT AB &% O WR P o §90 &
3R ST CD @5 O UX I B I &, dl

tan(%)- tan(%) BT AE T 87

w?  [CD$2023]



If(3a+6b+c+2d) x(3a-6b~-c+
J) 2d) = (3a 6b+c-2d)x(3a+6b-c-
2d), then which one of the following

Zd ) is correct?

g 3a + 6b + ¢ + 2d) x (3a - 6b - ¢ +

2d)=(3a-6b+c-2d) x(3a+6b-c-
2d), @ FrfaRed § 9§ @9 1 8 WE?

(a) ab = cd
(b) ac = bd
\_Icyad = be

@ (d) ad + be = 0

[CDS-20237]



sinf+cosb = T

If tan x = ,— <0< —, then
sinf-cos0 4 2
( Stc what is /2 sin x equal to?
< \/ﬁ)’sine + cos 0
(b) sin®-cos®
S-C sin0 + cos 6

grave B L
s S+C’ (d) sin0 - cosb

ﬁ 2
[CDS-2023]




How many value of 0 will satisfy the

/-\ ?::l; ;0n4 51n9+3)(4 $L529+4Sin 9) -
EA)(S3)SH)=0 s <s‘3"~73+’>)

¢ gx
l S (b) Only one

(c) Only two
(d) Only three




If x = 97 + 5643, then what is the

1
value of %I +—7?
ﬁ i/g



HOuHy)=y5

Let L be the LCM and H be the HCF of
two given numbers. L and H are in
the ratio 3 : 2. If the sum of the two

45, then what is the

numbers is
EruEuct of the numbers)
AT 6 9 & 18 SR @1 LeM, L 3R

H, HCF 8| L 3R H & 3uId 3: 2 &
gfe Q1 Gl &7 ART 45 B, o A

&1 UG F9T 82

(a) 243 IX I[ﬂ X L

(b) 486

# Cannot be determined due to
ficient data



36} 6, then what is 2D+

&’ qual to?

@ IS 3x-1+ 33x=6, T 2x1 + 23-x

fPus TEr 27

(c) 2
(d) 1

[CDS$-Q0237]



. & a4) (_a‘b}'b?.#b) If x(a—b+%}=y(a+b—%}
—— T =
‘d (a%-ab)(am and x + y = 2a°, then what is x - y
Vl - qibb equal to ?
YV Ahr ~2b3
y a°fh (b) -2ab?
/\ (C) 2h3
WY _ Qo> (d) 2ab




Which one of the following is a factor

T of 3/3%° +2./2y° —18xy + 6./6 ?
G s o, (o e o 9
Q’éﬁﬂ—@@ﬁ-@)"z 3./3x° +2\2y° - 18xy + 6./6 @ BIF

@ s & ? [CDS-2023]

(a) V3x + /2y - J_
ﬁa—\& ER_%—( (b) V3x ++2y -6
sl € U 2y =R

(d) 3x> +2y? +f18x+ry J6xy + 6




If a2~-bc =, b2 -ac = 2-ab =y, then

what'1s a&bﬁ
a?)n;sfl'(g_GO\’oL (a+b+c)(a+B+?)

Ife a2-be = o, b2 - ac = B, c2-ab =y, a

CU\M () (Ol":fl:'?-.f c’-—Gb-‘pc-u\) Wil a0

(a+b+c)(a+B+y)

‘ (@a+b-c
WM*% ‘b)a—b+c
(c)-a+b+c

AT
[CD$-20237]

equal to ?




If (x-1)% is a factor of x* + ax3 + Px2 +

Ty en the othe
v

'HXIXIQ—I q&[&lli", x4 + ax3 + Bx2 +

actor will be:

-1 -




(a) 5
(b) 2
(c) 1

A 2-digit number is such that the

sum of the number and the number
obtained by reversing the order of
the digits of the number is 55.
Further, the difference of the given
number and the number obtained by
reversing the order of the digits of
the number is 45 What is the

product of the digits CDS- %02 Bj

TS 2 b P G&T T TPR &

T R S G P bl D HH Bl
Saed W WK W& BT I 55 §| 39
3[TaT, € g 6T 3R O 6T B P
® P B Soded W U G&T P AN
| BT 3b 45 T | Dl BT [OFG T
g7



For what relation between a and b is

the equation sinf =

abg|  we

a<bh

Qﬁ_’o \/::}-azb
Oth & 0, aes

[CD3-2023
(3=36)"L & -

JogJB

possible?

2./ab



/

C

A3 C
€ S | —c¢

Bte A

A‘K@B & =aftp A, B 38R ¢ fidax b o &)
94 2

Three persons A, B and C together
can do a piece of work in 36 days. A
and B together can do five times as
much work as C alone; B and C
together can do as much work as A
alone. If A and C together can do n
times as much work as B alone, then

what is the value of n DS‘Q 023—]

36 fal # @ R P &1 A 3R B
AR s/del C | U™ AT WS B R

(a) 1.5 goa & B IR C ATH SAT FH N

B} Vien
(c) 2.5
(d) 3

Hhd & a9 A 3fdel H) Fadl 8| afe
A IR C e sfdel B ¥ n T[T S
BRI B GHd &, O n BT 79 T 87



If ~2—a:ﬂ=%, then what is the

3 5

18
value of ——+/a? + ¢ —b? ?

M /355
(c) V375
~ ]3‘2\1 FE0S g) 3415

NS [CD8-2023]



The sum of deviations of n numbers

Z(wi-10)= _ from 10 and 20 are a, b respectively.
Za—lm =a %" If g= -4, then what is the mean of
Sxi-2m=b 182 —these n numbers?
10 3R 20 ¥ n GE&RH & fdga™ &1 I
An=at ma,bﬁltrﬁg:—ﬂ. 2 A a
|o &Rl T A 747 87
el Y Mon-2x
o) 16 "~

(d) 18 — A0

[CD$-2023] &°




If the median of observations 12, 1,
8, 54, 61, 28, 45, 35, 21, 17 is M,

l ? 12 ,? @ then what is the value of 2M + 57
/
A afe Nevr 12, 1, 8, 54, 61, 28, 45, 35,

w%?

e @.) -\(g:il
(c) 52

\_Jdr5a
[CD3-2023] hes w







